NTSE STAGE-Il (2013)
CLASS-X [MAT]

HINTS & SOLUTIONS

ANSWER KEY

Ques.| 1 2 3 4 5 6 7 8 9 [0 121213 147 15
Ans | 1 3 4 2 3 2 4 1 3 3 2 1 2 1 3
Ques.| 16 | 17 | 18 | 19 [ 20 | 21 [ 22 [ 23 [ 24 | 25 | 26 | 27 | 28 | 29 | 30
Ans | 2 3 1 4 4 1 3 1 4 1 2 1 4 -Z
Ques.| 31 | 32 | 33 | 34 | 35 [ 36 | 37 | 38 [ 30 | 40 | 41 | a2 | 43 | 44 | 45
Ans | 1 3 2 1 3 4 3 1 3 2 1 1 3 3 3
Ques.| 46 | 47 | 48 | 49 | s0
Ans 2 4 2 4 1

STUD ENT>RSTEDMS 26. long candle length — ¢
| —14 T T / short candle length — s
= T in 1 hr long Candle burn = é
2. =3
= 20
—1 soin 2 hr long candle burn = 5
long candle left = ¢ — 2¢_ 3¢
4. alPp|aco|BPPP |ocaoo|BRB .. -5
5. The no. in third column = No. in first column — e = —
No. in second column 3.5
C3 = Cl_ C2 . 2xs
same in the rows Soin 2 hr short candle burn = 35
R,=R,—-R
’ ' ’ 2s 1.5s
) short candle left =s— - = -
8. Pythagorean Triplet 35 35
X2 +y2 =272 3x3.5
s = /
5x1.5
9. (79 + 65)Y2 — (37 + 12)*2
=5 -7y L_5
B v N T
10. n"—n
27. Total toys = x
11. n—n No. of dolls =x -6
No. of car=x -6
15. 3"+ (=1)" No. of books =x — 6
ATQ
23. (625 +104)** — (115 +101)** =3 X—6+x-6+x-6=Xx
3x—-18 =x
x=9
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30.

32.-36.

37.

38.

39.

46.

/\

No. of buffalos =x

No of cows = 2x

X +2X =60

3x =60

x= 20

No of cows =40

No of buffalos = 20

As buffalo X is 171

So 16 Animal ahead of x
out of which 9 are cows
s0 16 — 9 =7 are buffalos
So no. of buffalos below
X=[20-(7+1)]=12

In every one match are person in eliminated so
when 118 match is completed than 118 person
eliminated. So only two peron left and finally
119 match in which one person is eliminate and

one wins.

Sadhana < Ravi < Alka < Lata < Asha.

Firstgroup=>5+4+3+2+1=15
Total match=15%x4+2+1+1 =064
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